(Question No : 1 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

-

A clause expresses one of the following elements of the grammar?

Answer ( Please select your correct option )

Expresses a proposition
C
Expresses preposition
O
Expresses language pattern
-~
Pedagogy
c -
YWade By: Wagar Siddhu
Question No : 2 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

-

While changing direct into indirect speech, adjective and adverb changes happen. Which of the following is not correct change?

Answer ( Please select your correct option )

This becomes That
[ ®]
Here becomes There
(o]
Now becomes Then
~
Today becomes That day
c -
YWade By: Weadgar Siddhu
Question No : 3 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

TWhich of the following is the “superlative’ form of the word ‘soft’?

Answer ( Please select your correct option )

Softer
[ ®]

Soft

Softest

Softy
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Question No : 4 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

-

All of the following must be kept in mind while using adverbs and adjectives, except:

Answer ( Please select your correct option )

Adjectives can be used as subject complements
C
Adverbs can be used as subject complements.
O
Be careful in using comparatives and superlatives.
-~
Adverbs cannot be used in comparative forms.
c -
YWade By: Wagar Siddhu
Question No : 5 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

-

TWhich of the following is a collection of related sentences dealing with a single topic?

Answer ( Please select your correct option )

Thesis
[ ®]
Paragraph
(o]
Article
~
Frame work
c -
YWade By: Weadgar Siddhu
Question No : 6 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

TWhich of the following topic requires a time order paragraph?

Answer ( Please select your correct option )

How to bake a cake
[ ®]

My Friends

My living Room

What I like about my city
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Question No : 7 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

-

Which of the following word should be used instead of “Pretty” in writing?

Answer ( Please select your correct option )

Very
C
Tremendously
O
Extremely
-~
Enormously
c -
YWade By: Wagar Siddhu
Question No : 8 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

-

The words which express actions, events, or states of being are termed as:

Answer ( Please select your correct option )

Etymology
[ ®]
Synonym
(o]
Verb
~
Adjective
c -
YWade By: Weadgar Siddhu
Question No : 9 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

A word that is added to a sentence to convey emotions is termed as:

Answer ( Please select your correct option )

Pronoun
[ ®]

Interjection

Conjunction

Interchange
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Question No : 10 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

-

The grammatical unit that includes a subject and a predicate, and expresses a proposition is called as:

Answer ( Please select your correct option )

Classic
C
Clause
O
Grapheme
-~
Phrase
c -
YWade By: Wagar Siddhu
Question No : 11 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

-

“To express action that will be completed by or before a specified time in the future.” It is related to:

Answer ( Please select your correct option )

Present Perfect
[ ®]
Present Indefinite
(o]
Passive Voice
~
Future Perfect
c -
YWade By: Weadgar Siddhu
Question No : 12 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

The books on Social Sciences in a library under the Simplified Dewey Decimal Classification system are kept under which of the following class?

Answer ( Please select your correct option )

200
[ ®]

300

700

900
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Question No : 13 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

Place all modifying adjectives, adverbs, appositives and prepositional phrases near the words they should modify. It is required to achieve: =

Answer ( Please select your correct option )

Inconsistency
C
Coherence
O
Unity
-~
Emphasis
c -
YWade By: Wagar Siddhu
Question No : 14 of 27 Marks: 1 (Budgeted Time 1 Min) (=)
The synonym of Circumlocution is 4 =

Answer ( Please select your correct option )

Brevity
[ ®]
Conciseness
(o]
Shortness
~
Wordiness
c -
YWade By: Weadgar Siddhu
Question No : 15 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

The use of a word or phrase that is more neutral, vague, or indirect to replace a direct, harsh, unpleasant, or offensive term is called as:

Answer ( Please select your correct option )

Euphetnism
[ ®]

Colloguialism

Circumlocution

Jargon
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Question No : 16 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

-

The literal meaning of a word is termed as:

Answer ( Please select your correct option )

Connotation
C
Denotation
O
Detonation
-~
Neutral
c -
YWade By: Wagar Siddhu
Question No : 17 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

-

The word derived by combining portions of two or more separate words is termed as:

Answer ( Please select your correct option )

Morpheme
[ ®]
Portmanteau
(o]
Bound Morpheme
~
Prefiz
c -
YWade By: Weadgar Siddhu
Question No : 18 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

If a writer has new ideas and can craft interesting openings that will draw a readers’ attention, then which of the following will be more appropriate for the writer?

Answer ( Please select your correct option )

TWriter has the understanding of who the audience is?
[ ®]

“Writer has good research skills.

TWriter has good interviewing skills.

“Writer has great sense of creativity.
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Question No : 19 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

-

Which of the following will be true for the writers that are proficient to speedily discover the information they require in order to craft their writing as more interesting?

Answer ( Please select your correct option )

TWriter has good research expertise.
C
Writer has effective interviewing proficiency.
O
TWriter has better understanding of his readers’ needs
-~
“Writer has a sense of ethics and accuracy.
-~
YWade By: Wagar Siddhu
Question No : 20 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

-

A good writer knows the communication reality. It means that:

Answer ( Please select your correct option )

TWriter strongly believes that a message sent is not a message received.
[ ®]
Writer strongly believes that a receiver will interpret the message in the same way sender had intended.
(o]
Message will surely be misinterpreted.
~
None of the given options
c -
YWade By: Weadgar Siddhu
Question No : 21 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

is not a general characteristic of a good writing.

Answer ( Please select your correct option )

Literary Language
[ ®]

Completeness

Clarity

Conciseness
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(Question No : 22 of 27

Marks: 1 (Budgeted Time 1 Min) (=)

The term SMOG Index stands for:

-

Answer ( Please select your correct option )

Simple Measurement of Globalization
C

Sample Music of Gospel

Simple Measure of Gobbledygook

Standard Measurement of Gigahertz

Wade By: Wagar Siddhuy

(Question No : 23 of 27

Marks: 3 (Budgeted Time 6 Min) (=]

What types of topics require multi-paragraph

it

7 Give

P

-

Answer ( Please click here to Add Answer )
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Question No : 24 of 27 Marks: 3 (Budgeted Time 6 Min) (=)
What is a Preposition? Give three les in =

Answer ( Please click here to Add Answer )
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(Question No : 25 of 27

Marks: 3 (Budgeted Time 6 Min) (=]

Discuss the use of double comparative and superlative adverbs and adjectives.

-

Answer ( Please click here to Add Answer )
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Question No : 26 of 27

Marks: 5 (Budgeted Time 10 Min) (=)

Define the Adverb Modifier and make two sentences using Adverb Modifier.

Answer ( Please click here to Add Answer )
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Question No : 27 of 27

Marks: 5 (Budgeted Time 10 Min) (=)

According to the rule of Emphasts, what should be the placement of principle thought and the subordinate information in a sentence? Briefly explain with example.

-

Answer ( Please click here to Add Answer )
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